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1. A data scientist samples a population by randomly selecting one of the first 100 entries in a telephone
directory, as well as every 100th entry after the selected entry. This process is known as:

A. Haphazard/Convenience Sampling
B. Systematic Sampling

C. Stratified Random Sampling

D. Multistage Cluster Sampling

E. Quota Sampling

Answer: B
Systematic Sampling is defined by selecting one random unit from the first £ units, and then every kth
unit after. The process described in the problem adheres to this definition with £ = 100
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2. A university class is collecting data on hours of studying done by students in universities nationally. To
collect data, each student in the class is interviewed. This process is known as:

A. Judgment Sampling

B. Simple Random Sampling

C. Quota Sampling

D. Haphazard/Convenience Sampling
E. Multistage Cluster Sampling

Answer: D

The population for the study university students nationally; however the sampling method relies on a
readily available sample without consideration to the degree to which the sample represents the under-
lying population. This is haphazard/convenience sampling
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3. Which of the following are true statements?

I. A disadvantage of judgement sampling is that it is subject to the bias of the data-collector.

II. An advantage of simple random sampling is the ease with which it can be implemented.

III. An advantage of multistage cluster sampling is that it allows sampling of very large populations.
IV. An advantage of stratified random sampling is that all strata are able to be observed.

A. T and III
B. Il and IV
C.Tland IV
D. IT and III
E. III and IV

Answer: A

Statement I is True.

Statement II is False - simple random sampling is often difficult or impossible to implement due to access
or willingness of the population.

Statement III is True.

Statement IV is False - A disadvantage of stratified random sampling is that certain strata may be
unobservable
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4. A researcher is studying the number of hours worked per week by professional chefs. Ten chefs are
interviewed as a sample of chefs globally.

The interviews yield the following hours worked per week:

43 47 50 50 52 57 60 60 63 65 70

Given an unknown population mean, calculate the sample variance in hours worked per week

A. 69.69 B. 78.22 C. 84.78 D. 98.42 E. 100.31

Answer: A
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